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M (S H)=UXRDIEH2E

@ AxgskH (&2 HA>)
= Xz . CLOl (5 oAl . HAHS oH MEE =t
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St8™ 1,031,766 701,526 330,240
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301 LBrE A3 58,044 54,444 3,600
058E-01%-HEESELAZ 53,100 53,100 0
Q0| &g 200,000& x15H *143] 42,000
Q0| &3 &MY 20,0002 #1528 %24 3| 7,200
Obt&E =l 25,000 x78Y +23| 3,900
09 HALAHIBAZ 1,344 1,344 0
QO & &IX| A& 40,0002 *15Y *13] 600
OO0] . Bt AMZ| o EAX Bal=
8,000 *93Y +13] 744
12 J|Et2 &3 3,600 0 3,600
OO0tz 20,0003 x15 «12& 3,600
gaHM29 2,680 2,680 0
201 LBt 3F Y| 2,200 2,200 0
01 At22t2|H| 1,000 1,000 0
OggtZH| 1,000
OgAgs=2d 100,000& 102/ 1,000
02 33234l 1,200 1,200 0
03322 % HA 1,200
OYg<fEos 55232 100,000& x12& 1,200
301 LBrE A3 480 480 0
09 HALAHIBAZ 480 480 0
ORAZ32d 8,000& *30Y 23] 480
FOI=SX XA 8,000 7,000 1,000
201 LBt 3F Y| 5,000 5,000 0
01 At 22| H| 5,000 5,000 0
oYXtz 5,000
OMLH S2s72EH Xt
500,000& 103 5,000
206 M Z HI 3,000 2,000 1,000
01 TH=Z= 8l 3,000 2,000 1,000
OBAXO0IRAIH2SZE (U, & &)
3,000,000 =14 3,000
FOEN L WsIH 3,450 2,650 800
201 LBt 600 600 0
03 A2 FHI 600 600 0
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SN S
U (S H)FURXDIBr2Z S}
ol WEEHREN (S91:&8)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OFs=¢ 66,860 *1H 135 870
O3 X 66,8603 «1H +3& 201
O=gHl 3,000& 1590 270
o=z 7,087,160%12% 851
ogdA=sael RY 9,476
oy 77,5303« 1H 90 6,978
OFs=+¢ 77,5303 1H *135= 1,008
Od x4 77,5303« 1833 233
O=gH| 3,000 18«90 270
o4z 8,219,000& *12% 987
201 2 EH2HH| 35,100 80 35,020
01 At22t2lbl 35,000 0 35,000
OMYDIMER YAIHIIS ALHLI|
280,000 x125&+ 13| 35,000
02 3223l 100 80 20
0332= ¥ HAl 100
OHUAS BHAMAEEZ 50,000& «2H 100
206 M2 dl 15,276 18,276 A 3,000
01 M= Hl 15,276 18,276 A3,000
O¢AA=REAY 14,316,000 * 14! 14,316
OMeDIdEE A2F 80,000& 128 960
a2 13,788 13,036 752
101 1A 4] 6,528 6,276 252
04 JI1ZtHMZ2Z2 S ES 6,528 6,276 252
oS FARY 6,528
oy 26,0002 201 %120 6,240
OCLEMUHEER 6,240,000& *4.6% 288
201 2 EH2EH| 7,260 6,760 500
01 At 2teltl 1,200 1,200 0
OgBt=24] 1,200
OZ2S=E FAES 7Y
50,0002 «200 2+ 128 1,200
02 2323l 6,060 5,560 500
o332= % HMAl 4,560
OSS3EH &tk es
70,0002 *200 2+ 128 1,680
OZS=EY dIIes
120,000& 200 2=+ 123 2,880
OA&EHlI =Xl 1,500
OSEat&Eal Adzel X
750,000 *2H 2~ 1,500
B AN A 151,080 43,839 107,241




2L BteH
o (SHEH)FUXRIDIEH2 S
Sl HEHAEY EERED
- _ &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
401 Al HIL SO 151,080 20,000 131,080
01 Al€H 150,000 20,000 130,000
OTMNPA MAZ It ALY
150,000,000 * 14 150,000
03 Al 28I 1,080 0 1,080
OTMIPA MYZ It el At
150,000,000 *0.72% 1,080
ESEAELES 2,000 2,000 0
201 €erE gl 2,000 2,000 0
01 At 22l 1,500 1,500 0
oget=EH| 500
OMEEHl HAUBE 7Y(AWE, H2LS)
500,000 12} 500
o xt= 1,000
OMdIJIXcI &Yl Xtz 500,000 23] 1,000
02 524l 500 500 0
OAEEHIRXH| 500
OMgIIMelZFAIL 22l 500,000 14 2 500
FAUXAEH 2 64,960 49,400 15,560
FUNKHEHEEY 25 X2 64,960 49,400 15,560
201 282 61,160 46,600 14,560
01 At22t2lHl 50,160 45,600 4,560
oget=SHl 7,560
OLZ 1HEE MNFSSHI
80,0002 *6IH Br+12& 5,760
Osgs € #4834l 150,000& 122 1,800
o2g=+¢ 42,600
OFQNXI RS Bl &ML
70,0002 x25& 122 21,000
OZZ 8 HA=+=E 300,000 «6& x12& 21,600
02 =52l 1,000 1,000 0
OF2XRIHEH AIEEH =Xl
500,000& 23] 1,000
03 AHZ I 10,000 0 10,000
OSUIXAl SAIZSH| 2,500,000& »22] 5,000
OHM72l 3td Ot S22 5,000,000& *14] 5,000
202 ol 1,800 1,800 0
01 =UWo 1,800 1,800 0
FAUTXAE HFFE bl
50,0002 x3E *123] 1,800
301 LN = 2,000 1,000 1,000




SN S
3 () FUXRIOIH=L 8
| &

£I9l: Z=0IXHXI ME 2 Y (9l &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
00 HAIAHIE &S 2,000 1,000 1,000
FOXAAE & K28 1,000,000& *12] 1,000
ON73l =td Ot S%432 1,000,000& *13] 1,000
(Stg8) XIS 269,121 142,815 126,306
INEEFag=Pl 269,121 142,815 126,306
stedH =ES2s 15,681 14,915 766
101 2124 11,681 10,915 766
04012t Z2 2 NS+ 11,681 10,915 766
O=ZHM=HYUFY 10,222
o=y 160,000& x5E x12& 9,600
O=gtl 3,000& x5 *12& 180
OLNE MHES 9,600,000 *4.6% 442
OJtz3te FHI&Y URY 1,459
o=y 66,8603 x4H x5 1,338
O=gtl 3,000& x4 «5 60
OLg MMHES 1,325,000 *4. 6% 61
206 M =4l 4,000 4,000 0
01 M2t 4,000 4,000 0
02 T4 42 L B2 7Y
2,000,000 * 14! 2,000
OJt2 st 2el83 Fel 500,000& *43] 2,000
22 XEzgne 253,440 122,900 130,540
206 M =4l 2,000 2,000 0
01 =4 2,000 2,000 0
OARZUEAAG HEHl 2,000,000 *14] 2,000
401 AIE2HIZ 208 251,440 120,900 130,540
01 A& H] 250,000 120,000 130,000
OXNSaEIN LA 250,000
Ottd1e] =2 &I SA 10,000,000 14 10,000
Ouatd2e] =2 2&XISAH 10,000,000 *14] 10,000
OFAel s22d & =2 HEXSA
20,000,000 *14] 20,000
Ol s22d & =2 2HEXSA
20,000,000% *14] 20,000
Oztel s22d & =2 HEISA
25,000,000& * 14 25,000
O&de| sEFSA 12,000,000 * 14| 12,000
Os2iel =22 wHM3A 5,000,000 141 5,000
Osg2e| =2 24ISAt 7,000,000 14 7,000
OZdcl =22 WHMSA 12,000,000 14 12,000




S B
B (AT

el NGz EiHe (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
Ofa2e] =22 Wi ¥ sZTEESA
12,000, 000& 14! 12,000
O7Mel s2%F L 2SI SA
20,000,000 14 20,000
Ot Zel s2Z B A 15,000, 000& * 14! 15,000
Ox&del sZ2EF3A 12,000, 000& * 14! 12,000
OJi28 SFEHHIAMY 20,000, 000& 14! 20,000
O+T940| FH BT (ZLE0I0A)
50,000,000 14 50,000
03 AlE 20l 1,440 900 540
OXNIZE N AL 200,000,000& *0.72% 1,440
HH2HAY|(SHEH) 381,581 336,519 45,062
A2 | 175,971 141,789 34,182
ol 2d | 175,971 141,789 34,182
101 @124 8| 175,971 141,789 34,182
01 2=+ 50,338 50,251 87
QAlZt2 22+ 50,338
(OLI= 11,4012 x5F «30A| 2tx 123 20,522
ora 10,2993 «3H +30A| 2t+ 123 11,123
O8= 9,246 2= +30A 2+ 12& 6,658
OF]=] 8,357 x4 x30A| 2+ 12& 12,035
03 RINAHA2ZRHE 125,633 91,538 34,095
OFSE~IES 90,932
oJi=a 2,377,4103x2H 123 57,058
O&2+¢ 1,188, 7053 +2H x23| 4,755
OZESIH| 500,000% x2H +23] 2,000
O Xt 21,0003 +2H «8A| 2tx15 5,062
OAZtA222 21,0903 2 +20A 2123 10,124
OsgZ2Rsd 21,090 «8A| 2t+6 1,013
Ok = Ea= 50,0002 x2H = 12& 1,200
O/l 50,0002 x2H*12& 1,200
OF === 140,000 »2ZE + 123 3,360
Ous=2 x| 50,000 x2Z x12& 1,200
O AZ 4| 130,000& x2H x 123 3,120
OsclZ M| 10,0002 x2H = 12& 240
Ol =l 150,000 x2FH *23| 600
O& A22] 34,701
oJi=a 1,897,410 18« 12& 22,769
OF et = 285,000 x1H *23| 570
OZESIH| 500,000& 1 »23] 1,000
O x4 15,9803 * 1H +8A| 2++ 15 1,918
OANZeI2RY 15,980 x1H+20A| 2tx 128 3,836
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A R
By #H2e Y| (5o
chel: ol gy =ER-E)
I3 g9 (3) - NRAE - BaS e 52
Osgaesg 15,9803 « 1 «BA| 2H+6 L2 768
Ooflg+g 50,0002 x1& *12& 600
OJtE+e 80,0002« 1H*12 960
OunsS=E x| 50,0003 x1E *12& 600
OogdgAl 130,000&x1H x 122 1,560
O=cl=4H| 10,0003 x1H » 122 120
J 205,610 194,730 10,880
] 205,610 194,730 10,880
et | 151,310 144,710 6,600
01 At 22l 41,990 41,390 600
oget=EH| 25,020
oMzl 300,000& *12& 3,600
OAr=ESHI 400,000 12 4,800
O8=% & ZAHHS M 50,0002 «207H 1,000
O=sol=E M 150,000 *12& 1,800
Otz & dJ2dlE 258
150,000& *12& 1,800
OXZeHEH F¥ 250,000& x50 23] 2,500
OIs=AD EH #¢
1,000, 000& *20H 22 4,000
OSUBHIANAY BAL2E
400,000& 12 4,800
OZEH&ACIANAE S+  60,000+122 720
o2g=+d¢ 13,370
ogAHl 50,0008 x121 6,050
O=2Hl 30,0003 ~244& 7,320
©OF=1={:] 3,600
oort2e s sS4l 8,000 » 15 »30 3,600
02 8523l 109,320 103,320 6,000
0352= & HAl 84,920
(OFSPIR=E=) 6,000,000& *12& 72,000
Ok 2= 200,000 12 2,400
OJIEtE8E32= & MA 200,000 x12& 2,400
ozagxe 28 500,000 *4CH 2,000
OdyRBEESELSEE 150,000& *12& 1,800
ORINEERBE 360,000& * 122 4,320
Og=H| 600
oddgl s dat 1,200 %500 £ 600
OAIEEHIRXH 7,000
OFAMAIE 2R X2 500,000& %73] 3,500
O=Fdx4J| RAH| 500,000 *2CH 1,000
O=X3a2 72 500,000 *43] 2,000
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2M: 3
XM XH: GH
(==l I =}
cte: |

all (&= d&)

SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
Ostda® =Xal2t A%A AL 500,000&*12 500
OXt et 16,800
Oxtg =l 350,000& x40« 122 16,800
202 044l 40,000 39,200 800
01 =401 4,000 3,200 800
OBIoEA U HOALER
50,0003 «10& 8 4,000
02 MY 36,000 36,000 0
OZ NI 200,000 x15H 128 36,000
203 &Rl 10,300 10,220 80
01 J|22Z =8| 5,940 5,940 0
QI ZH2AHURF Y| 550,000 * 12 «90% 5,940
02 A R=H| 760 680 80
OF AL RFAIH| 40,000 *19% 760
04 EA2SERFA 3,600 3,600 0
ORMNMSILRFA| 300,000& 128 3,600
405 KHAHE S| 4,000 600 3,400
01 MRS S HSHI 4,000 600 3,400
oMEDIdEE dFE D 2Hl 900,000 *1CH 900
OMIIHdEH HLED] 2]
1,600,000 = 1CH 1,600
OLE=1YHI 1,500,000 = 1CH 1,500




